Work 3
1. What is the power required to accelerate a 200 kg car from 20 m/s to 40 m/s in 10 s? 

2. Mr. Baker’s car (m = 750 kg) accelerates from 0 to 28.3 m/s (60 mph) in 15 s. How much power does Mr. Baker’s car have?

3. Two workers are loading bricks into the back of a truck. Each worker will lift 200 1 kg bricks a distance of 1.5 m. Worker 1 moves his bricks in 30 minutes while worker 2 moves his in a 1.5 hours. 

a. Which worker does more work?
b. Which worker has more power?
c. What is the work done by each worker?
d. What is the power of each worker?
4. A 300 kg mass is lifted from the ground to a height of 15 m.


a. What is the work done by an applied force?


b. What is the work done by gravity?

c. What is the net work done on the object?

d. What is the change in kinetic energy of the object?
5. A winch pulls a 30 kg load up at a constant velocity of 5 m/s.

a. How much power is exerted by the winch? 
b. How much work does the winch do in 20 s? 
c. How far does the winch move the load in 20 s? 
d. How much work does gravity do on the load after 15s? 

6.
What power is needed to lift a 49-kg person a vertical distance of 5.0 m in 20.0 s? 

A)
12.5 W    

B)  25 W    

C)  60 W    

D)  120 W    

E)  210 W 
7.
A warehouse worker uses a forklift to lift a crate of pickles on a platform to a height 2.75 m above the floor.  The combined mass of the platform and the crate is 207 kg.  If the power expended by the forklift is 1440 W, how long does it take to lift the crate? 

A)
37.2 s    

B)  5.81 s    



C)  3.87 s    

D)  18.6 s    

E)  1.86 s 
